12a9740 (K12a0742)

SN (T TR T

b 3 8 9 12 10 11 2 7 1 6 4 5

\ J] 10 Solving Sequence
1

27—-8—>3—>9—>4->111>6—>10—>5—> 12 >> C4,09,C11
A knot diagranﬂ ¢t C2  Cg C3 Cg Cio C5 (12 T

Ideals for irreducible component#ﬂ)f Xpar

=W =¥ o b1, —uP 5%+ 420 -8, w3 —3uP - 8u—2)
I§=(—2u4a—u3a+3u4+u3—u2—|—2b—3a+6, —2u4a—u3a+3u4—|—3u3—|—a2+au—2u2—3a—|—u—|—4,
u® +ut +2u+1)
I = (-1, ud +2u® +2a — u, u* —u? +2)
I} = (=3u'®a — 4u'a+--- —6a+4, u®a—u'® +--- 4+ a® —a,
ut® +ut® — 2uM — 3u® 4 4u!? 4+ Tutt — 3u® — 100 4+ 9u” + 3u® — 5’ — dut + 2u% 4 2u + 1)
F=0+1,a+u—1, ut+1)
I = (
I =
Ig=0b-1, a, u—1)
IP=(-1,a—2 u+1)

IY'={a, b+1, v+1)

* 10 irreducible components of dim¢c = 0, with total 89 representations.

1The image of knot diagram is generated by the software “Draw programme” developed by An-
drew Bartholomew(http://www.layer8.co.uk/maths/draw/index.htm#Running-draw), where we modi-
fied some parts for our purpose(https://github.com/CATSTAILs/LinksPainter).

2 All coefficients of polynomials are rational numbers. But the coefficients are sometimes approximated
in decimal forms when there is not enough margin.
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http://www.layer8.co.uk/maths/draw/index.htm#Running-draw
https://github.com/CATsTAILs/LinksPainter

1.
It = (u3?—ud 4. -+ b—1, —u®*+5u3?+...4+2a—8, u3*—3u33+...48u—2)

(i) Arc colorings
az
a7 =
ag =
az =
ag =

w’ — 2u® + 2ud — 2u)

a4 = —uT 4 ud —2ud +u

St — TP+ —8u+3
ag = \ —y33 232 4 +4u —1
— 0 =2t —u2+1
@10 = \ —ut2 + 2419 — 448 + 4uS — 3u* 4 202
%u33 17U32+"'—20U+6
as = \ =3u® +6u2+..-+12u—3
Tt — 3P 4 —Bu+2
a19 = —’LL32+’LL31+" —3u+1

(ii) Obstruction class = —1

(iii) Cusp Shapes = —8u?3 + 18u32 + 24u3! — 983" — 34u?® + 324u?® — 48u?7 —
778u26 + 404u?® + 1380u?* — 1192023 — 1882u22 + 2412u2! + 1850020 — 3712u!? —
98448 4+ 439007 — 460w — 3998u'® + 1854u!* + 255208 — 2452012 — 726wl +
1942u1° — 470u° — 95448 + 796u” + 110u® — 512u® + 270u* + 50u3 — 132u? + 74u — 20



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
c1,C8 W11+ —16u+4
Ca,C7 W+ 3B+ —8u—2
c3 ut — 3u® - 4 848u — 296
C4,Cs5,Co wr B e w1
€10, C11, C12
€9 ut + 210 + - — 40228y — 4366




(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
c1,cs Y3t 25933 + ... — 288y + 16
Ca,C7 3t =11y 4 4+ 16y + 4
c3 Y3+ 33 4 -+ 674464y + 87616
CHE5C0 | B3 y3y38 L9y 41
€10, C11, C12
Co y*t 4+ 13y% + - 4 56365904y + 19061956




Solutions to I}

(vi) Complex Volumes and Cusp Shapes

V=1 (vol + y/=1CS)

Cusp shape

u = —0.988927 + 0.1095781
a = —0.431526 + 1.2284701
b= 0.276236 + 0.5671801

—3.24927 + 2.650621

—6.82528 — 6.630391

u = —0.988927 — 0.1095781
—0.431526 — 1.2284701
b= 0.276236 — 0.5671801

—3.24927 — 2.650621

—6.82528 + 6.630391

uw = —0.739127 4 0.7411061
0.930370 + 0.0172611
b= —0.485252 — 0.2150511

a =

3.09736 + 0.687401

3.83595 — 3.912951

uw = —0.739127 — 0.7411061
= 0.930370 — 0.0172611
—0.485252 4 0.2150511

3.09736 — 0.687401

3.83595 + 3.912951

= 0.718436 + 0.7744981
0.812978 + 0.0758131
—0.412168 — 0.5292591

2.64462 4 2.183321

2.21430 — 4.773351

0.718436 — 0.7744981
0.812978 — 0.0758131
—0.412168 4 0.5292591

2.64462 — 2.183321

2.21430 + 4.773351

0.939426
0.0259566
0.428300

—1.90429

—3.14100

0.891331 + 0.6033701
0.422005 + 0.4834721
0.066256 + 0.5929211

—0.69654 — 2.347091

—4.49475 + 2.279281

0.891331 — 0.6033701
0.422005 — 0.4834721
0.066256 — 0.5929211

—0.69654 + 2.347091

—4.49475 — 2.279281

1.005180 + 0.3897971
= —0.154937 + 0.6406571
= —1.52677 — 0.225911

9.88665 + 2.860321

4.26747 4 0.396151




Solutions to I}

V=1(vol + y/=1CS)

Cusp shape

= 1.005180 — 0.3897971
= —0.154937 — 0.6406571
= —1.52677 + 0.225911

9.88665 — 2.860321

4.26747 — 0.396151

= —1.076760 + 0.1920341

= —1.52621 — 0.300471

8.67508 + 9.434701

2.55855 — 6.186771

= —1.076760 — 0.1920341
= —0.23388 4 1.886261

U
a
b
U
a = —0.23388 — 1.886261
b
U
a
b= —1.52621 + 0.300471

8.67508 — 9.434701

2.55855 + 6.186771

u = —1.10214
a= 133391
b= 1.42323

3.37001

2.15130

0.701066 + 0.8505511
a = —2.07986 + 0.41696.1
b= 1.56353 4 0.329871

u =

15.6899 + 9.33531

8.75460 — 3.544581

0.701066 — 0.8505511
a = —2.07986 — 0.416961
b= 1.56353 —0.329871

u =

15.6899 — 9.33531

8.75460 + 3.544581

u= 0.506457 + 0.7338771
a= 1.048590 + 0.1011951
b= —-1.46790 — 0.051211

8.81248 + 1.354171

8.27726 — 0.269651

0.506457 — 0.7338771
a= 1.048590 — 0.1011951
b= —-1.46790 + 0.051211

u =

8.81248 — 1.354171

8.27726 + 0.269651

u = —0.804999 + 0.8364031
a = —2.48607 4 0.641161

17.5746 + 4.94131

9.92383 — 3.2542971

b= 1.62501 + 0.212781

u = —0.804999 — 0.8364031

a = —2.48607 — 0.641161 17.5746 — 4.94131 9.92383 + 3.254291
b= 1.62501 —0.212781




Solutions to I3

V=1 (vol + y/=1CS)

Cusp shape

= —0.966971 + 0.6968991
= —0.486334 + 0.622660.1
0.511243 — 0.1689091

2.40071 + 4.801141

1.91928 — 2.141661

= —0.966971 — 0.6968991
= —0.486334 — 0.6226601
= 0.511243 + 0.1689091

2.40071 — 4.801141

1.91928 + 2.141661

= 1.032170 + 0.6322651
= —0.17093 — 1.703321
= 1.43085 — 0.07072I

7.31130 — 6.523301

5.94001 4 5.491721

1.032170 — 0.6322651
—0.17093 + 1.703321
1.43085 + 0.070721

7.31130 + 6.523301

5.94001 — 5.491721

0.986491 + 0.7145261
= —1.35111 — 0.668021
0.407979 — 0.5711601

1.83243 — 7.824301

0.40818 4-9.671421

= 0.986491 — 0.7145261
= —1.35111 4+ 0.668021
= 0.407979 + 0.5711601

1.83243 + 7.824301

0.40818 — 9.671421

= —0.957491 + 0.7845491
= 1.91646 — 1.355071
= —1.62922 + 0.190941

17.1033 + 1.10351

9.17994 — 1.909601

= —0.957491 — 0.7845491
= 1.91646 + 1.355071
= —1.62922 — 0.190941

17.1033 — 1.10351

9.17994 + 1.909601

= 1.022640 + 0.7438341
= 1.85346 + 2.374151
= —1.55431 + 0.341151

14.7022 — 15.28361

7.11885 + 8.335631

1.022640 — 0.7438341
1.85346 — 2.374151
= —1.55431 — 0.341151

14.7022 + 15.28361

7.11885 — 8.335631




Solutions to I}

V=1 (vol + y/=1CS)

Cusp shape

= 0.122815 + 0.7051451
—2.12345 — 0.617211
1.55687 — 0.268741

12.6181 — 6.59651

9.17145 + 3.778931

0.122815 — 0.7051451
= —2.12345 4 0.617211
1.55687 + 0.268741

12.6181 + 6.59651

9.17145 — 3.778931

0.129052 + 0.4238581
0.854310 + 0.0466981
—0.261902 +- 0.3824471

0.121984 — 0.9764281

2.24524 4 6.977281

0.129052 — 0.4238581
0.854310 — 0.0466981
—0.261902 — 0.3824471

U
a
b
U
a
b
U
a
b
U
a
b

0.121984 + 0.9764281

2.24524 — 6.977281




IL. I = (—2u%*a —vu3a+3u* 4+ u3 —u? +2b—3a +6, —2u*a+3u*+ ... —
2
3a+4, ub+u*+2u+1)

(i) Arc colorings
0
ag = u
a7 =
ag —
az =

ag =

(
(
(

(
e (1
(

(

(

(

(

u
ae = %u4a+u4+ a—i—%
ut —u? +2u+2
ai = ud —u
2uta — 2ut + --+4a—12—1
as = —%u4a+%u4+~-~—%a+%
u4a—%u4+~~~+%a—2
a2 = %u4afu4+~~~+af2
(ii) Obstruction class = —1

(iii) Cusp Shapes = —4u?* — 4u3 + 4u? — 2



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
€1,C8 (u® + ut + 4u® + 2u® + du + 1)?
Ca, C7 (u® —u* + 2u — 1)?
3 (u® + du* + 9u® + 9u? 4 4u — 4)?
€4, 5, Co u'® —u® — 4u® + 40" + 4u® — 3u — 3ut — P+ 9u? —2u—5
€10, C11, C12
9 (u® — u* + 4u® — 2u* 4 4u — 1)?

10



(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
C1,¢s,Cy (y° + Ty* + 203 + 269 + 12y — 1)?
c2, 7 (v° —y* + 4y — 2 + dy — 1)?
& (v° + 2y + 173 + 23y% + 88y — 16)?
CHE5:C6 |10 _gy9 L. 94y + 25
€10, C11, C12

11



Solutions to I3

(vi) Complex Volumes and Cusp Shapes

V—1(vol + y/=1CS)

Cusp shape

u = 0.760506 + 0.8158921
a= 0.989553 — 0.1736291
b = —0.733353 4 0.8258391

9.59182 — 1.138251

8.09602 + 2.340581

u = 0.760506 + 0.8158921
a = —2.89378 — 0.203131
b= 1.49386 — 0.009951

9.59182 — 1.138251

8.09602 + 2.340581

u = 0.760506 — 0.815892]
a= 0.989553 4 0.1736291
b= —0.733353 — 0.8258391

9.59182 4 1.138251

8.09602 — 2.340581

u = 0.760506 — 0.815892]
a = —2.89378 + 0.203131
b= 1.49386 4 0.00995]

9.59182 4 1.138251

8.09602 — 2.340581

u = —1.001870 + 0.7417641
a = —1.58501 + 0.679341
b= 0.487815 + 0.9345851

8.07331 4+ 10.611301

5.23519 — 7.854541

u = —1.001870 4 0.7417641
a= 2.22820 — 2.291891
b= —1.48968 — 0.192821

8.07331 4 10.611301

5.23519 — 7.854541

u = —1.001870 — 0.7417641
a = —1.58501 — 0.679341
b= 0.487815 — 0.9345851

8.07331 — 10.611301

5.23519 + 7.854541

u = —1.001870 — 0.7417641
a= 2.22820 + 2.291891
b= —1.48968 + 0.192821

8.07331 — 10.611301

5.23519 + 7.854541

u = —0.517281

a= 1.16595 2.50323 —0.662420
b= —1.15268

u = —0.517281

a= 235611 2.50323 —0.662420
b= 10.635404

12



III. I = (b—1, u® + 2u? + 2a — u, u* — u? + 2)

(i) Arc colorings
0
ag = U
a7 =
ag =
az =

ag =

U
al — —U
L3 241
U u® + 3u
ail = 1
f%ug u2+%u+l
as = 1

<
<
<
( 3
- (7)
)
<
<
<
<

(ii) Obstruction class =1

(iii) Cusp Shapes = 4u? + 4

13



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
! (u? —u+2)?
C2,C3,C7 u4_u2+2
cy
4
€4, C10 (u+1)
Cs5,C6,C11 (u_ 1)4
C12
Cs (u? +u+2)?

14



(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
c1,08 (y* + 3y +4)?
C2,C3,C7 (y2_y+2)2
C9
C4,C5,Ce (y_ 1)4
€10, C11, C12

15



(vi) Complex Volumes and Cusp Shapes

Solutions to I v—1(vol + /—1C5) Cusp shape

0.978318 + 0.6760971

= 0.19178 — 1.800951 4.11234 — 5.333491 6.00000 + 5.291501
= 1.00000

0.978318 — 0.6760971

0.19178 4+ 1.800951 4.11234 + 5.333491 6.00000 — 5.291501
1.00000

—0.978318 + 0.6760971

—1.19178 4 0.844801 4.11234 + 5.333491 6.00000 — 5.291501
1.00000

—0.978318 — 0.6760971

—1.19178 — 0.844801 4.11234 — 5.333491 6.00000 + 5.291501
1.00000

> & €|l & 8| & 8|l & &
Il

16



V. I¥ =
(—3u'®a—4u'ta+---—6a+4, uPa—u®+---+a?—a, v +ul®+-.. . +2u+1)

(i) Arc colorings

o ()

a7 =
ag —
az =

ag =

w’ — 2u® + 2ud — 2u

(
(
(
(
ay = (—u7+u5—2u3+u)
(
(
(
(
(

a
3u15a—|—4u14a+---—|—6a—4>
3utta+3ul®+---+3a+u
—5ulPa+3u® + - —Ta+7
—ul0 ¥ — 2wl ot — w41
—ul? + 2010 — 448 + 445 — 3u? + 2u?
5ul®q + 6ul*a + - - - + 10a — 7)

as = \ —5ulPa+6ul® +--- —4a+8
3uta+ul®+- +7a—1
a2 = \ —3ua+5ul® 4+ —a+2
(ii) Obstruction class = —1

(iii) Cusp Shapes = 4u'? — 8u'® + 16u® + 4u” — 161’ — 8u® + 12u* + 8u3 — 4u? — du +2

17



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
c1,cs (u'® +5ul® + -+ — 4u® 4+ 1)?
Ca, C7 (ulﬁ—u15+-~-—2u+1)2
3 (u® — 20" + 3u® + ut 4+ 2u% — 2u + 1)?
C4,Cs5, Ce w2t 4 6u+3
€10, C11, C12
Cg (ulﬁ _ 5u15 + R 4u2 + 1)2

18



(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
c1,Cg,C9 (y16+11y15+---—8y—|—1)2
ca,C7 (y'0 — 5y' 4+ —dy? +1)?
€3 (v +2y" + 11y° + 10y° + 7y* + 109> + 6y* + 1)*
C4,C5,Cp y32 727y31 ++102y+9
€10, C11, C12

19



Solutions to Ij

(vi) Complex Volumes and Cusp Shapes

V=1 (vol + y/=1CS)

Cusp shape

1.017320 + 0.1910911
= —0.34975 — 1.641571
0.458488 — 0.8292301

2.20856 — 5.296221

—0.10789 + 6.282961

1.017320 + 0.1910911
0.23817 + 1.836641
—1.41899 4 0.174951

2.20856 — 5.296221

—0.10789 + 6.282961

1.017320 — 0.1910911
—0.34975 + 1.641571
0.458488 + 0.8292301

2.20856 + 5.296221

—0.10789 — 6.282961

1.017320 — 0.1910911
0.23817 — 1.836641
—1.41899 — 0.174951

2.20856 + 5.296221

—0.10789 — 6.282961

= —0.908738 + 0.2524771
1.024170 — 0.6027301
0.650125 — 0.6291281

2.96149 4 0.252701

1.61015 — 0.965111

—0.908738 4 0.2524771
= 0.672335 — 1.0243201
—1.358490 4+ 0.0177271

2.96149 4 0.252701

1.61015 — 0.965111

= —0.908738 — 0.2524771
1.024170 + 0.6027301
0.650125 + 0.6291281

2.96149 — 0.252701

1.61015 + 0.965111

—0.908738 — 0.2524771
0.672335 + 1.0243201
—1.358490 — 0.0177271

2.96149 — 0.252701

1.61015 + 0.965111

—0.708362 + 0.6114011
= 0.955612 — 0.3792061
0.244922 — 0.3723111

2.96149 — 0.252701

1.61015 + 0.965111

—0.708362 + 0.6114011
= 0.938047 + 0.0062051
= —1.153660 + 0.1198341

>~ Q@ €|l & €| & €| Q& €| & €| & €| & &> & 8| & 8| & &

2.96149 — 0.252701

1.61015 + 0.965111

20



Solutions to Ij

V=1 (vol + y/=1CS)

Cusp shape

= —0.708362 — 0.6114011
= 0.955612 + 0.3792061
0.244922 4 0.3723111

2.96149 + 0.252701

1.61015 — 0.965111

—0.708362 — 0.6114011
0.938047 — 0.0062051
—1.153660 — 0.1198341

2.96149 + 0.252701

1.61015 — 0.965111

—0.724199 + 0.8263881
0.657035 — 0.2590251
—0.514081 + 0.9232301

8.92422 — 4.735661

6.88636 + 2.915881

—0.724199 + 0.8263881
—2.59244 — 0.381621
1.49162 — 0.173291

8.92422 — 4.735661

6.88636 + 2.915881

—0.724199 — 0.8263881
0.657035 + 0.2590251
= —0.514081 — 0.9232301

8.92422 + 4.735661

6.88636 — 2.915881

—0.724199 — 0.8263881
—2.59244 + 0.381621
1.49162 + 0.173291

8.92422 + 4.735661

6.88636 — 2.915881

0.866890 + 0.6962741
1.54948 — 0.220131
—1.165260 — 0.286760.1

5.64493 — 2.676071

7.61139 + 3.324151

0.866890 + 0.6962741
—1.67678 — 2.037851
1.105310 — 0.3360931

5.64493 — 2.676071

7.61139 + 3.324151

0.866890 — 0.6962741
1.54948 + 0.220131
—1.165260 + 0.286760.1

5.64493 + 2.676071

7.61139 — 3.324151

0.866890 — 0.6962741
—1.67678 4 2.037851
1.105310 + 0.3360931

> Q@ €| & €|l & €| & €| Q& & & 8| & 8|l & 8|l & 8| & &g
|

5.64493 + 2.676071

7.61139 — 3.324151
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Solutions to Ij

V=1 (vol + y/=1CS)

Cusp shape

= —0.960503 + 0.6542821
= —0.422425 — 0.4517671
—0.055277 — 0.3540871

2.20856 + 5.296221

—0.10789 — 6.282961

—0.960503 + 0.6542821
—0.64027 4 1.592321
1.072600 + 0.1629951

2.20856 + 5.296221

—0.10789 — 6.282961

= —0.960503 — 0.6542821
= —0.422425 + 0.4517671
—0.055277 4 0.3540871

2.20856 — 5.296221

—0.10789 + 6.282961

—0.960503 — 0.6542821
—0.64027 — 1.592321
1.072600 — 0.1629951

2.20856 — 5.296221

—0.10789 + 6.282961

0.977539 + 0.7499411
0.252677 — 0.8652831
0.767790 + 0.8104481

8.92422 — 4.735661

6.88636 + 2.915881

0.977539 + 0.7499411
2.43403 + 1.752591
—1.49199 + 0.015941

8.92422 — 4.735661

6.88636 + 2.915881

0.977539 — 0.7499411
0.252677 + 0.8652831
0.767790 — 0.8104481

8.92422 + 4.735661

6.88636 — 2.915881

0.977539 — 0.7499411
2.43403 — 1.752591
—1.49199 — 0.015941

8.92422 + 4.735661

6.88636 — 2.915881

—0.059947 + 0.6228521
0.761202 + 0.0864401
—0.568590 — 0.7999121

5.64493 + 2.676071

7.61139 — 3.324151

—0.059947 + 0.6228521
—2.80109 + 0.484361
1.43548 + 0.103641

> Q@ €| & €|l & €| & €| Q& & & 8| & 8|l & 8|l & 8| & &g
Il

5.64493 + 2.676071

7.61139 — 3.324151
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Solutions to Ij

V=1 (vol + y/=1CS)

Cusp shape

= —0.059947 — 0.6228521
= 0.761202 — 0.0864407
—0.568590 + 0.7999121

5.64493 — 2.676071

7.61139 + 3.324151

—0.059947 — 0.6228521
= —2.80109 — 0.484361
= 1.43548 —0.103641

U
a
b
U
a
b

5.64493 — 2.676071

7.61139 + 3.324151
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V.I!=0b+1,at+u—1, u*+1
5

(i) Arc colorings
a9 =
a7 =

ag =

ag =

<
<
<
<
( 3
e (%)
<
<
<
<
<

(ii) Obstruction class =1

(iii) Cusp Shapes =8
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(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
2 2
C1,C8 (u + 1)
C2,C3,C7 U4 + 1
Cg
4
€4, C10 (u—1)
Cs5,Ce, C11 (u+1)4
C12
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(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
4
C1,C8 (y + 1)
C2,C3,C7 (y2+1)2
cy
C4,C5,Ce (y_ 1)4
€10, C11, C12
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(vi) Complex Volumes and Cusp Shapes

Solutions to I VvV—1(vol + /—1CS) Cusp shape

0.707107 + 0.7071071
0.292893 — 0.7071071 | 4.93480 8.00000
= —1.00000

= 0.707107 — 0.7071071
= 0.292893 + 0.7071071 | 4.93480 8.00000

= —0.707107 + 0.7071071
= 170711 — 0.707111 4.93480 8.00000
= —1.00000

= —0.707107 — 0.7071071
= 1707114 0.707111 4.93480 8.00000

U
a
b
U
a
b = —1.00000
U
a
b
]
a
b = —1.00000
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VL I =(b, a+1, u—1)

(i) Arc colorings

w= (1)

1
a7 = 0
1
ag = \1
-1
az = 0
0
ag = \1
-1
as = —1
1
a; = 1
-1
ail = 0
1
as = \0
-1
apo=\ 0
1
as = O
0
a2 = \1
(ii) Obstruction class = —1

(iii) Cusp Shapes = —6
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(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
C1,C2,C3
C4,C7,C8 u+ 1
C11,C12
Cs5,Ce65 C10 u
€9 u—1
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(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
C1,C2,C3
Cy4,C7,C8 Y- 1
€9, C11, C12
Cs5, C6, C10 )
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(vi) Complex Volumes and Cusp Shapes

Solutions to I V—1(vol + v/—1CS) Cusp shape
u = 1.00000
a = —1.00000 —1.64493 —6.00000
b= 0
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VIL I =(b—1,a—1, u—1)

(i) Arc colorings
0
ag = 1
a7 =
ag =
az =

ag =

(
(
(
(
w- ()
(
(
(
(
(

aio =
1
as = \1
1
a2 = \1
(ii) Obstruction class = —1

(iii) Cusp Shapes = —6
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(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossin
Yy
C1,C2,C3
Cs, C6, C7 u+1
€8, C10
C4,C11,C12 U
C9 u—1

33



(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
C1,C2,C3
€5, C6,; C7 y—1

€8, C9, C10

C4,C11, C12 )
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(vi) Complex Volumes and Cusp Shapes

Solutions to I¥ V—1(vol ++/—=1CS) Cusp shape
u = 1.00000
a = 1.00000 —1.64493 —6.00000
b= 1.00000
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VIIL I¢ = (b—1, a, u— 1)

(i) Arc colorings

w= (1)

a7 =
ag =
az =

ag =

(
(
(
(
w- ()
(
(
(
(
(

(ii) Obstruction class =1

(iii) Cusp Shapes =0
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(iv) u-Polynomials at the component

u-Polynomials at each crossing

Crossings
C1,C5,Cq u—1
C7,C11,C12
C2,C3,C4 w4+ 1
C8, C9, C10
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(v) Riley Polynomials at the component

Crossings

Riley Polynomials at each crossing

C1,C2,C3
C4,Cs5, Ce
C7,Cg,C9

€10, C11, C12
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(vi) Complex Volumes and Cusp Shapes

Solutions to I¥ v—1(vol ++1/—1CS) | Cusp shape
u = 1.00000
a= 0 0 0
b= 1.00000
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IX. Iy =(b—-1,a—2, u+1)

(i) Arc colorings

o (%)

a7 =
ag =
az =
ag =

aq =

(ii) Obstruction class =1

(iii) Cusp Shapes =0
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(iv) u-Polynomials at the component

Crossings

u-Polynomials at each crossing

C1,C2,C3
Cs,C6, C9

C11,C12

C4,C7,C8

€10

u+1
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(v) Riley Polynomials at the component

Crossings

Riley Polynomials at each crossing

C1,C2,C3
C4,Cs5, Ce
C7,Cg,C9

€10, C11, C12
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(vi) Complex Volumes and Cusp Shapes

Solutions to 1§ v—1(vol ++1/—1CS) | Cusp shape
u = —1.00000
a = 2.00000 0 0
b= 1.00000
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X. I =(a, b+1, v+1)

(i) Arc colorings
-1
ag = 0
a7 =
ag =
az =

ag =

<
(
(

(
u=(0)
<
(

(
<
(

(ii) Obstruction class =1

(iii) Cusp Shapes = 12
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(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
C1,C2,C3 "
C7,C8, Co
C4,C10 u—1
Cs5,C6,C11 w1
C12
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(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
C1,C2,C3 Yy
C7,C8, Co
C4,C5,Ce Y — 1

€10, C11, C12
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(vi) Complex Volumes and Cusp Shapes

Solutions to I} V—1(vol +/=1CS) Cusp shape
v = —1.00000
a= 0 3.28987 12.0000
b = —1.00000
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XI. u-Polynomials

Crossings u-Polynomials at each crossing
o w(u — 1% (w4 1) (u? + 1)%(u? — u + 2)?
(P ut 4 4 420 + du 1)) (0 F5utt 4 — 4w 1)
(Ut 4+ 116 - — 16u 4 4)
Cs, 0 u(u — 1) (w412 (u* 4+ 1) (u* — u? +2)(u® — u* + 2u — 1)?
(=t =20+ 1)) (P 430 - — 8u—2)
s u(u — 1) (u+ 13w + 1) (u* —u? +2)(u® +4u* 4+ -+ 4u — 4)?
((u® = 2u” 4 3ub +ut + 20 — 2u + 1)) (uP* — 30 + -+ 848u — 296)
u(u — 1) (u+1)7
€4, €10 10 _ .9 8 7 6 5 4_ .3 2
(u” — v —4u® +4u” + 4u® — 3u® = 3u”t —u® + 9u” — 2u — 5)
WP - bu+3) (Wt =P e u1)
s, Cg, C11 w(u—1)%(u+1)°
19 (' —u® —4u® 4" 4 48 — 30— 3ut — ud o+ 9u? — 2u - 5)
WP = bu+3) (WPt =P e u 1)
cs u(u+ 1)*(u? + 1) (u® + u + 2)2(v® + v + 4u® + 2u® + du + 1)?
(4 5ut 4 — 4w F D)D) (WP F 116 4 — 16u 4 4)
Co uw(u —1)3(u+ 1) (u? + 1) (u? —u® +2)(u® —u + -+ 4u — 1)?

((u® = 5ut 4 — 4 + 1)) (6 4+ 2163 4 - — 40228u — 4366)
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XII. Riley Polynomials

Crossings Riley Polynomials at each crossing
yly — Dy + D' (y? + 3y +4)°
c1,C
v (P + Tyt + 2007 4+ 2607 + 12y — 1)) (50 + 11" + -+ — 8y + 1)?
(y** 425y 4 - — 288y + 16)
9. yy =D+ D2 -y + 2707~y + 4y’ - 27 + 4y - 1)°
(" =5y = 4y? 1)) (v - 11y - 4 16y +4)
yly - D'+ 1% —y +2)°
C
° () + 2y* + 17y3 + 2392 + 88y — 16)?
(Y + 297 + 11y° +10y° + Tyt + 10y° + 6y° + 1)*
(P P+ 4 674464y + 87616)
C4,C5,Co yly — D20 — 9y + - — 94y 4+ 25)(y*? — 27y + .- - 4+ 102y + 9)
€10, €11, C12 (Pt =43y 4+ =9y 4 1)
o yly =Dy + 1)y —y +2)°

(P + Tyt + 2007 4+ 26y% + 12y — D) (5" + 11y + -+ — 8y + 1)?
(3 4 13y33 4 - -+ 4+ 56365904y + 19061956)

49



